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1. Selectall t ements that.are true. Be prepared to explain your reasoning.
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2. Select all expressions that are equivalent to 5x — 15 — 20x + 10. i

o (@) 5x+—15+ —20x + 10 Sx+-15 +-20%x 410
(b)) 5(x + =3 + —4x + 2) S ++2D% +=15 +10
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3. Simplify the expression. Show all work. B T
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4. Evaluate your answer from #3 when x = —2.:88\\' all work.
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5. Simplify the expression. Show all work. 23z 2228
2_3+4(g’+y)-2-7y §+12 44 ,--w-g,‘ij
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6. Evaluate your answer from #5 wheny = 0.8
20+ I.Eij
0 + \-3@'3)

30+ 1-04 =’
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7. Simplify the ex sion. Show all work.

—2x+5y+3(x+ 6)— 2y
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8. Simplify the expression. Show all work.
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9. Factor the expressions
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3x+ 5x = X(3*5) oY )((8) &Y & X

10. Ms. Mule took her 3 kids to Six Flags Amusement Park. She bought 1 adult ticket,
3 child tickets, 2 sweatshirts for the girls, and a baseball hat for her son.

Write an expression to represent the total amount she spent if A represents the
adult ticket price, C represents the ch_i]_@_%et price, W represents the price of a
sweatshirt, and H represents the price of a hat.

P —

Evaluate to find out how much Ms. Mule spent that day if
A=3$55

C = $40.75

W= $20.25

H=$12.99

- A +3C + N+ | H C
- (s5)+ Yoars) 4 2Aaag) ¢ 1(129

554+ [212.25 4 Yo.50 + 12.99
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